Calcolare i seguenti limiti, scrivendo la risposta mediante un’unica frazione:

marcsenr — 2 < ﬂ) |z — §]
e — _|_ x

m—)% x\/§ 2 r—8

2

lim log(x + 3)
x—3 z—1

lim (tgz)sen?x

=7
. CcoS T
lim senx +
T— % 2
. 1
lim

z—3 2 + 2%

1

lim
z—1 arccos x + 2arcsent

lim log(z — 2) + log(x + 2)
x—3 T + 2

. tgx 1 s 3
lioy S5+ o (- )
mlm% 3 T T &g sen(x®)

xt—2
1m
z—2 4% — By

T
1. 1 t -
P (arcsenz)(arccos z) + Vo laretg <log($ + 2))
4
-~ 3 (1 g ( arctgx))
z—1H T
lim 22 4 sen(1 — log(e + z)) + Lt
x—0 2

senr

+ \/§COSIL'

. arcsenx
lim —

xﬁ% arccos r

.1
31:1_>H12 parcsen (log, x)



1 tgx
+g

im
z—Z 2C0sx 3

lim —
z—3\ 3

wils

lim 6 arccosz + 2arcsenz
S

log(1 + e”)
im ————
z—1 e+1

. CcoS X
lim v/3senz —

2§ V3

14+ e*
lim

r—2 exr

. 2" —1
lim
z—1 2e® + 1

1
m arctg (w)

z—y/3 arctgx

iy T2
IO

lim 3arcsenz + arctg(2x)
3

. cosx 1
lim + —
=% 2 tgx

X
(3) -1
im ~=~——
z—3 x+4
. arcsenx T
lim +
w2 T arccos x

1
lim
=3 x + log,(x + 1)

. tgx 1
lim ——
=% 3 2senx
1P+
lim

z—bbxr + 1



arctgx 1
& +

T ™ X

o1 ( V2 )
lim — arccos | —
T—2 T X

. COs T
lim v2senz — ——

r— % V2

r+1
1m
x—3 2% + 2

lim arcsenz + arccosx + arctge
z—1

€4arctgx T

. —e

lim

x—1 2x
li !

im — senz
a—Z \/3tgx

3
lim x

z—2 2log(3z)

. COSxT
lim —— + tgz

== V3

eac+1
lim
z—1 ¢ + e

lim 3 arccosx — 2arcsenx
T3

lim 1 + arctg (1 + log x)
z—1



